Multiplication de Trois Trinomes (D)

Simplifiez chaque expression.

1 (=7d* — 8d* + 7d)(—3d* — 8d* + 4d*)(—d’ + 8d* — 9d°)

2. (—38% — 45% + 45)(—65" + 7s* + 35)(s" — 8s® — 9s?)

3. (=927 — 52 +32°) (=22 4+ 22 +62)(32° + 2* + 62%)

L (6R* — Th — 7)(8h° + 9h* — Th?)(—2h* — 5h — 2)

Ot

(=76 — 8b* — 5b*)(—b® + Tb + 6)(—Tb° + 9b* — 5b)

6. (£ — 3t* — 9t) (5% + 3t + 3)(2t° + 3t* + 6t°)

T (=9 = Ty = Ty)(—2y" — 3y’ + 20°) (4y" + 8y — 3y°)

(9h% + 2h* — Th)(—9h* + 9h + 8)(—4h* — Th® — 8h?)
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) (=40 + 20 + 1) (=5v* + 3v® — 9u?) (=80 — 4v* + 20)

10. (42° — 2% — 92%)(2® — 42 + 6)(—52° — 72 — 9z)
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